2 Studies for Violin

Notes marked ¢ indicate place for “preparatory finger,” and should not be sounded.
The length of the lines following finger-marks indicates the time during which fingers should retain their places.
Revised and fingered by
Louis Svecenski

H. E. Kayser. Op. 20, Book I
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Allegro molto
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This Number must also be practised sfeccafo, the
elbow perfectly steady and the wrist properly bent.

Diese: Nummer muss auch bei volliger Ruhe des El-
bogens und richtiger Biegung des Handgelenkes, gesto-
ssen geiibt werden
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